VR N anz

Which equation represents the translation The graph of g is a translation of the graph

of flx) = 5x + 3 shitted down 4 units? of f. Which equation could represent g?
® gx)=5x—4 v

® olx)=5x—1

© glx)=5x+4

® gx)=5x+7 .

@ Which equation represents the translation
of b0 = [2 ™ + 1 shified left 5 units?

® g(x)z(%)rﬁﬂ ® glx)=flx)+3

gl =[5+ ® ol =00~ 3

® ()—(2)x+4+_| © glx)=flx+3) ]
FHTIS ® gl =flx-23)

® gi=[3""+1

@ The graph of g is a translation of the graph
of f. Which equation could represent g7

The graph of g is a translation of the graph
of f. Which equation could represent g? y

r ® gk)=flx—4)—5
@ glx)=flx)+4 gx)=flx+4) =5
glx) = flx) — 4 © gl=fx—4+5
@ o =flx+4) @ o=flx+4)+5
@ glx) =flx—4)
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The graph of g is a translation of the graph of f. Which equations could represent g? Select all
that apply.

) The graph of function g is a translation of
the graph of f(x) = %(x — 4) + 3 shifted the graph of f(x) = (HH — 5 shifted right

left 6 units and down 3 units. 5 units and up 3 units.
& G i3
PartA PartA

Graph g. Graph g.

The graph of function g is a translation of

FartB

Write an equation for g.
2 a8
g =_"3X+7

S(x-+6)+3-3
& L3

%(;@—2)‘#@ — ‘%‘xﬂ'—%]
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The points (—5, 0), (—3, 4), (0, 7), and (1, 9) are on the graph of . The graph of g is the translation
of the graph of fshifted down 4 units and right 1 unit. Which points are on the graph of g?

Point On the graph of g Not on the graphofg X ﬂ
(=2, 1) o ® 5710
(——L_i’—4) @ O -3 Y
(=3, 8) O @ 01|72
£2,0 ® O | 19 / .
1,3 @ o C:;{ (‘;S):j.
@, 9 e © Cel, 2)2
G5
(x) = 6" + 2. Write an equation of g for each translation of f described in the table. i
Translation of f Eguationofg
shift up 5 units (’x. +7
shift down 3 units (ﬂx — |
shift left 2 units P+ L
shift right 4 units (oprf + -
[gmﬁ_(, Z-l"y shift up 8 units and left 3 units (_0 3 +10
L, T4 2=y | shiftdown 4 units and right 7 units *T =L

g? Explain how you found your answer.

Let (3, —4) be a point on the graph of fand let g{x) = f(x = 3) + 5. What is a point on the graph of

S(K)‘: £ix-2) +5

o4

3r3=0
=f = |

n 6\/\*’ 3

'YWQ,;
43 “’qu@%

G ) 18 o 6\“7;1,\ Le (oA S |
HUre %WC»«PL\ IKS S\/\A'L U~TJ § WUJU '
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Let f(x) = 4”. Explain why the graphs of the functions glx) = % - 4%and g(x) =16 - 4 are
translations of the graph of f.

%(x):—‘q S gt oyXs Y se e aw}ab\ ,;:
Jsatovdel  hronslahh sha Fed V'BWF [yt

(<) = o= 17 = Y2 Y<e g s e grophsses
P bonslattn slifhed Lfr > wouds

Part A
How does the graph of f compare to the graph of glx) = flx — 4) + 27
- ‘
L (x-1)+ 2 M ot o Som
-—L —
= X 1L¥ L
i
) h .
PartB

What must ba true for the graph of g(x) = f(x + a) + btobe the same as the graph of f? Explain

how you know.

b oL & -
| »z_b’rf/\w%i)\/ﬁ\?% l)Sl\S‘H/\’L
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C/ /’V H}{QT’ 4 i",\u{,’rif v 4

Which graph shows the reflection of the e Which graph shows the reflection of the
graph of f{x) = ]—x — 4across the y- axrs? graph of f(x) = (%}H + 4 across the

x-axis? — lj §1jVL

Jfg 7

&MW'r
pxb
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The linear function fis graphed on the The exponential function fis graphed on

coordinate plane. Let the graph of g be * ihe coordinate plane. Let the graph of g be
the reflection of the graph of facross the the reflection of the graph of facross the

A
J/ x-axis. Which equation could represent g7 < y-axis. Which equation could represent g?

% |£6d (¥
© o= brs oA

3 0|0
ol d |-

glx) = —%x—dr

© g(x):%x%-ﬁr

© g(x)=%x~4

The points (f3; *2%), (=1, =1), (0, 1), and (2, 13) are on the graph of f. Which points are on
the graph of the reflection of the graph facross the x-axis and which points are on the graph of

the reflection of the graph facross the y-axis?

f Point - Across the x-axis (‘ﬂ) Across the yax'ss(-#) Neither

-3,23) | @ | O ! O

@ &P O | O | o ) “

& 13) O @ ' O

0, <) G | O . © \0"?&&9 i
©0,1) 0 | e O ;},&ﬂ
() o | ® o |
@mn | O | O @ A)

2, =13 | ® \ O | o
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i
3
%
H

_ @ The graph of function g IS a reflection of

the graph of f{x) (]—)x — 3 across the

y-axis. @ X ¢

_;c-i
Part A ?(’-X) (-L)
Graph g.
aives ]
pebs o]
_‘,q,_._\ﬁwms

PartB
Writ tion for g.
rite an eqluagon Sg

glx) = (?)-Xﬁ“_%

The graph of function g is a reflection of
the graph of f(x) = lx + 4 across the

y-axis. 2 =%

J
Part A 5 (-x) + 1
Graphg. _ -S‘L_ < +M

PartB

Write an equation for g.
= Jg' X+

glx) =

The graph of function g is a reflection of

the graph of flx) = 37 * — 4 across the
X-axis. \5 Vv ad W
PartA

Graph g. o (’5 _,b{)

PartB

Write an equatlon for g

PN

The graph of function g is a reflection of
the graph of f(x) = %x —

x-axis.—2 — s v s £(x)
——'(-fx 5)

o g ;{_‘\/b

5 across the
SEee e

Parta
Graph g.

PartB

Write an equation for g.

’f?ngr’)/

glx) =
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@ Let f(x) = (}IT Explain why the graph of the function glx) = 4"is the reflection of the graph of f
across the y-axis.

V=== a0
2 @') ()= )

@ The graph of function gisa reflection of the graph of f(x) = (%}XH 43 acrosé the x-axis and

across the y-axis.

—K\S
Part A ' Jﬁ-—-———-
( -%) ‘F\

Graph g. __(1

,_,_G_i-) 7C+\+3

R B N
PartB
Write an eguation for g.
TP
gl =_ 2 -
Part C

if a point (a, b) is on the graph of f, what point is on the graph of g7 Explain how you found
your answer.

MPIM‘{/( tsw%&Smpoh%s
- r{,(ju,urs (&, D WM\HNL X - O<lS g
~J wcgu,c)\'s [&5/ ruer \j—mKFS_
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Which equation represents the vertical
shrink of f(x) = 4x + 1 by a factor or%?

® glx)=2x+1 J’(‘-{)CH
® g(x):2x+1§ Q.X"r}
© gx=4x+2 g————
© glx)=4x+1

\ \Which equation represents the vertical

stretch of f(x) = 3x + 6 by.a factor of 37

® dﬂ=% 6 5(3%*0\
@ glx=9x+18

© gk=x+2 qx/}'g—
® o=

Which equation represents the vertical
stretch of f(x) = 3" + 2 by a factor of 27

® gi=3+2  g(3%2)

gl =3*+2 §

® g=2-3+4 2-3+4
1 T

® g=7 3+ el

Which equation represents the vertica\
shrink of f(x) = ( } — 4 by afactor of 57

ﬁ(@)'ﬂ

/=] AP E \ ; - g
/ Slhualbi Az rwaei

The graph of g is a shrink or stretch of
the graph of f. Which equation could
represent g7

y ’éﬁ’L
¥l

The graph of g is a shrink or stretch of
the graph of f. Which equation could
represent g7

® glx)=3fx
® ol =75/l
© glx) = f(3x)
® obd=1l3x)




9 The graph of function g is a vertical shrink

of the graph of f(x) (l)” —bbya
factor of%. ( _[_)M' . (o)
Part A

Graph g.

/-(35““

PartB
Write anz:{tfati(ln SO’E%L L,{

The graph of function g is a vertical shrink

of the graph of f(x) = 2x — 5 by a factor
2 2. _
Part A b _
Lx-X
Graph g.
Y

PartB

Write an equation for g.

o4

_‘-—)(.—*

glx) = =

The points (=6, 2), (—3, 4), (0, 6), (3, 4), and (9, 0) are on the graph of f. The graph of g is the
vertical shrink of the graph of f by a factor of % The graph of his the vertical stretch of the graph of
f by a factor of 2. Identify which points are on the graph of g or h.

Pointﬂ On the graph of g

Cn the graph of h

Neither

L L
= _'05(7(): v

(=12, 2) Ho®) o

O

®

oy 2) TP

3.8

(»z}q )

9>
+ (-
L>

(o) 0.6)

(3M4)+ (3,2

(34)+> (3.8

(340 64

e ololelole|o

(4.8)b ©,0

CNEORN RICHECRRORE |

Ol @ 0|0 ®| 0|0
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FartC
How does the slope of the graph of g compare to the slope of the graph of h?

mey §=3  The <log s Y e
ooy e %Ls\sgtii

PartD
In general, if fis a linear function, how would the slope of the graph of glx) = k f(x) compare to
the slope of the graph of h(x) = i ()7 If the slope of fis m, what are the slopes of g and h? Explain

how you got your answers.

AP0 LFL e sl ) g KT
()= i ) e slope 3,

L, L
2 D‘"\‘-
1

IL"L
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